
Theory

A2-1
English (Official)

Cox's Timepiece (10 points)

Part A - Pulling on a submerged tube

A.1 (0.2pt)

𝑃w =

−→𝐹 =

A.2 (0.8pt)

Experiment Behaviour (A or B ?) ℎ⋆ (cm) 𝐹max (N)
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A.3 (0.3pt)

𝜀 = Numerical value: 𝜀 =

Part B - Two-part barometric tube

B.1 (0.3pt)
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B.2 (1.4pt)

B.3 (0.3pt)

𝛥𝑚add = Numerical value: 𝛥𝑚add =

Part C - Cox's timepiece

C.1 (1pt)

𝜉⋆ =

C.2 (1pt)

−→𝑇 =
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C.3 (2pt)

Condition for observation Graph of 𝑥(𝑡)/𝑋

Regime 1

Regime 2

C.4 (1pt)

𝐹⋆
s =

𝑊 ⋆ =

𝑋⋆ =

Numerical value: 𝑊 ⋆ =

C.5 (1.7pt)
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